REASONING WITH ANGLES   HANDOUT 1
[bookmark: _GoBack][image: ]
[image: ]
image1.jpeg
€1-00

Listis|z|a|ot|zL|eL]6L lLje|e

4 L <.ov
.
0Pl L 9
-SEL S[p~C z
Sl 3
0)1L 0L

wn
w

ZLLI(OU)EDO—I‘Q.
o
o
~

(‘1211es8d 81 135,80
0) Jamsue

SHiZ/vivL|oz| 6|2

]

mﬂE@
—QE@

=P7Wep

=27uwWw e
‘Puy ‘a1nby yunoy ayy vy

= N.I\Ee

‘Puy *ainby puooas ay) uj

, v q 943 Je x0q 8y
i 011x3u Jena) eyl adnoN ‘A3X 3000 3yl ur mojeq asidsaxs Aue 10|

cliog uoabing map ay, inoqy [ensnun sy jeys-

Ut e sigy Jung
J Jamsue ay) pury

01-32

= SITWNIHL W05 = | "W aNY .56 = /w4 @
= SLTWNIHLOL = 21~ w aNy .op = UETNE)
__ T BTWN3HL W06 = 917w ANy .5E = g~w ENG)
= 2LTWN3HL W06 = SLTW ANY .0 = 2~w 4 ®
= VLTWINIHL GBE = £TW ONY L€ = g7 w 4 @
= LTWNIHL S8 = GITW ANY .62 = 67w 4 ®
= 8TUWNIHL W66 = 1 TW ANY 9% = g~ w 4 ®
= SL7WNIHL 'Sy = 67W ANV .55 = 77w 4) ®
) = E7WNIHL 021 = 217w 31 )
79 % = 67WNIHL W08 = g 7w )
[N | = 87WNIHL 26 = 57w gy 0)
8 = 97WN3HL 65 = 7w 41 3
Qm_vp T BVUNIHL S = L7w )
% T STWNIHL WY = 97w 41 3
€, T P7UNIHLS8Y = 17w )
v / = E7UNIHL 8y = 17w 31 g)
oLt € 99 € 06 05 £E S5 56 9E .06 .G op
M
06 .06 .0 .0€I LOp 8P .9 (G0L ,0£1 0€1  .0p
‘3Z18N31Svd
8P 9E .06 .99 gp 06 .56 .5 ,zgi 08  .0F
1VOODNIvY

SNOILI-NN-30 334HL IH.

11 dA0Qe 8s1213x8

Sl pul uay “asiniaxa Aue ui 3jbue umou

1300230 17M NOA ONV ONINHOM CEEM]

_.m-: 10 13113} BY) 81um ‘'sieadde 18wy yoe3 apod ay) w anseaw

HUN 8y} 4O 3inseaw ayl 1o ainbiy

'SNOLLD3HIO 3S3H1L MOT1104 'SNOILINAS4YQ 33uHL 3S3H1 300230 01

dapoaaqg uonjuiyeq




image2.jpeg
Why ' d urgo Iron His Four-leaf Clover?
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Circle the letter of the phrase that best completes any
statement below Write this | rin each box at the bottom of

the page that contains the stat ment number. (The exercises 3/4

refer to the figure at the right, where mlln.)
n

KEEP WORKING AND YOU WILL DISCOVER THE ANSWER TO
THE TITLE QUESTION.

5/6
8-

7| Two lines that intersect at nght angles are .
% (L) paraliel (N) perpendicular
. 5 | Two lines in the same plane that never intersect are
& (C) parailel (K) perpendicular
= | Aline that intersects two or more lines at different points i1s a
3 (E) transversal (A) bisector
(4 { !nthe tigure. the angles labeled 1. 2. 7. and 8 are
AM~ (B) interior angles (G) exterior angles
= | The angles labeled 3. 4.5. and 6 are
5 . (A) interior angles (T) exterior angles
=~ | Pairs of angles such as those labeled 1 and 5. or 4 and 8. are
,,m - (1) corresponding angles  (U) adjacent angles
5 | The angles labeled 3 and 6 are
7 (K) alternate interior angles (D) alternate exterior angles
R S
- The angles labeled 4 and 5 are
'8 (W) alternate interior angles (P) allernate exterior angles
= | two parallel lines are cut by a transversal. then corresponding angles are
‘9 (T) supplementary (R) congruent
i T
| Wm_1is 125" thenm. 5 s
10 (S) 60° (H) 125°

Allernate intenior angles are

(U) congruent {O) complementary
S| tmM_31s 60°. then m_6 s
12 (B) 40° (L) 60°
“5| T m-31560°. thenm . 8s
13 (S) 120° (T) 60°
When two lines in a plane are cut by a transversal. and if corresponding angles are
;M congruent. then the two lines are
- (F) intersecting (P) parallel
_oumm_ufuou_ugmmdu_om_mdm:mw
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OIFms10 = 30°, THEN m2 13
©IF mz13 = 130°, THEN m2 10

36", THENm_6

@IFm_'S

=45 THENm:.5 =

@IFmAS




